Hi KOKI

A W N R

6A

10
11A
12
13A
14
15
16
17
18
19
20
21A
22
23
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39

324183 SHEET (2 PCS)
324863 STOPPER
324177 GUIDE BLOCK
324184 PLATE (A)
324185 SPRING (C)
324165 SLIDER (A+B) SET
324175 CLUTCH PLATE
324167 SPROCKET
324489 SPRING

324173 ARM (B)

324174 ARM SPRING

Artikel

301653 TAPPING SCREW (W/FLANGE) D4X20 (BLACK)

324169 ARM
324176 STOPPER PLATE

885349 PIN D2.5

324164 SLIDER ASS'Y (NEW 328497)
324186 METAL (F)

324190 SPRING

HITACHI LABEL

324162 SLIDER CASE (A)

324189 STOPPER PIN (OLD 324726)
324163 SLIDER CASE (B)

324191 SPRING (A)

324187 KNOB

312430 SPRING

324188 BOLT M5

324134 + DRIVER BIT NO.2 136.4L
995933 RETAINING RING

307899 RETAINER

995931 GUIDE SPRING

307782 GUIDE SLEEVE (A)

324156 METAL

959148 STEEL BALL D3.175 (10 PCS)
324155 SOCKET

323476 CLUTCH DISC

306024 SPRING

324153 FINAL GEAR SET

608VVM BALL BEARING 608VVC2PS2L

Onderdelen voor W4YDLAZ

Aantal gebruikt
1
1

Pagina 1/3




Hi KOKI

40
41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
56
57
57
58
59
60
61
62
63
64
65
66
67
68
69
70
71
71
72

501

Artikel
950513 WASHER
324193 HOUSING SET (A+B)
324157 RUBBER COVER SET
305499 MACHINE SCREW (W/WASHER) M3,5X6
960356 TERMINAL (A) M3.5 (10 PCS)
324864 SWITCH ASS'Y (2P SCREW TYPE) W/LOCK (OLD 324158)
930804 TERMINAL M4.0 (10 PCS.)
302488 EARTH TERMINAL
994273 NOISE SUPPRESSOR
324151 SECOND PINION SET
324150 NEEDLE BEARING
931266 BRUSH CAP
999021 CARBON BRUSH (1 PAIR)
320287 HOOK ASS'Y
320288 V-LOCK NUT M5
6901VV BALL BEARING 6901VVCMPS2L
360707F ARMATURE 240V
360707E ARMATURE 230 VOLT
340623E STATOR 230 VOLT
340623F STATOR ASS'Y 240V
930630 BRUSH TERMINAL
324192 CHOKE COIL
981478 HEX. SOCKET SET SCREW M4X4
320514 BRUSH BLOCK ASS'Y
957571 BRUSH HOLDER
959140 CONNECTOR 50091 (10 PCS.)
NAME PLATE
319926 HOOK SPRING
319927 SPECIAL SCREW M5
980063 TERMINAL
937631 CORD CLIP
984750 TAPPING SCREW (W/FLANGE) D4X16
958049 CORD ARMOR D8.2 (OLD 9580497)
500234Z CORD 5M 2 X 1.0 FOR INA,SUR,MLT HO5VV-F (NEW 714500)
500439Z CORD FOR AUS (OLD 5002262/5004117)
328497 SLIDER CASE ASS'Y (OLD 324164)
310904 CASE

Onderdelen voor W4YDLAZ

Aantal gebruikt
1
1

Pagina 2/3




OO

Pagina 3/3



